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SN BoHs
B ZoME FOME 29
CHel: ZOID BN FOIME U FOXKE 29 )
SH - BAEA) - MRAY - BES Of &t o il 52
401 AIEHI L 2CHYI 800 2,499 A 1,699
01 A& dl 800 2,499 A 1,699
O =QHH AEHEZA 800
405 TtatFH S 3,200 0 3,200
01 H&H ESFHSH 3,200 0 3,200
O F2UXX 2 3loa Ma FY
100,000 » 25H 2,500
O F=odH Kot S=sud SIIEFEHI 2
700,000 » 1CH 700
HE2HIH (ZH4S) 50,390 49,088 1,302
Jl2dul(Ze4s) 50,390 49,088 1,302
Jl2 Bl (ZeH4s) 50,390 49,088 1,302
201 fEt2E | 19,826 18,524 1,302
01 At 2t 2l bl 9,596 9,396 200
O 1. etx=ZH 6,874
—SAMEX 21,000 » 508 A 1,050
— S Al #=2ld] 250,000 = 1CH = 13 250
—SAMI EH 100,000 » 10§ = 32 300
—ZBHI EY 250,000 = 3CH * 33 2,250
-89 S M 70,000 * 1094 700
—dEU= 324
S 15,000 = 15 * 128 180
RN 12,000 = 15 128 144
—2A2E Jl==84l 2,000
O 5. =&l 2,722
— 22 SEH
7,000 * 9H x 441 » 128 * 0.9 2,722
02 3324l 10,230 9,128 1,102
O1. 2322 2 WA 10,230
—RER=S 350,000 = 12& 4,200
23 370,000 » 128 4,440
—dot=R=3 100,000 = 6& 600
— NS XAl 30,000 = 13 30
- AAsHEES 450,000 » 13 450
—SFNEREE=S 110,000 * 23] 220
— QA HOZSTV =& 10,000 » 123 120
— 33X B4 =8 170,000 * 13l 170
202 o4 Hl 21,600 21,600 0
01 =M 21,600 21,600 0
O ZUHW=EZ0Hl 20,000 » 98 = 102 * 128 21,600
203 YR =&Y 8,964 8,964 0
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Off &t 24

5,940
5,940

324
324
2,700
2,700

6,600,000 » 1& = 0.9
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02 &t

2,700

40,000 = 99 * 0.9
250,000 » 128 = 0.9




